
Multiplication d’Exposants (F)

Simplifiez les expressions suivantes:

1. 7−4 · (−2)−4 2. 91 · 41

3. (−6)−3 · (−2)−3 4. (−8)−4 · (−6)−4

5. (−6)4 · 84 6. 48 · 48

7. 53 · 53 8. (−3)−9 · 6−9

9. (−8)−2 · 6−2 10. (−9)9 · 69
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Multiplication d’Exposants (F) Réponses

Simplifiez les expressions suivantes:

1. 7−4 · (−2)−4

= (−14)−4 =
1

(−14)4

2. 91 · 41

= 36

3. (−6)−3 · (−2)−3

= 12−3 =
1

123

4. (−8)−4 · (−6)−4

= 48−4 =
1

484

5. (−6)4 · 84

= (−48)4

6. 48 · 48

= 416

7. 53 · 53

= 56

8. (−3)−9 · 6−9

= (−18)−9 =
1

(−18)9

9. (−8)−2 · 6−2

= (−48)−2 =
1

(−48)2

10. (−9)9 · 69

= (−54)9
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